BRI T

FT R

T7B, T6C, T6D, T6E R

(T6C)
S P
/
‘Ffﬂf ***** I_I
|
NR —
M W U g
I T T 1 l l-
i i i g
A — N
\
BIBEBEEE oo fj] : T7B-B10-1R00-A1M1 - T6C-025-1R00-C1
1. [E-B10-1R00-AIMI....ovvrirrririrrirrienee. Sl 3. T7B-B10-fIRO0-AIML ....ccooovrveirinanee ot {17 =
SAE 45 T7BS | T6C | TeD | TeE 4. T7B-B1O-1FO0-AIML ...oovvvrrrrircirrrireinens i )
B E 2 s T7B - - - =
il 5 RS
2. T7B-EHE-1RO0-AIML ....coovviiiinen. R A i L
B = D E 5. T7B-B1O-1RE-AIMI .ccooovviiiriciiinaeee, i
BO2......... 5.8|003....... 10.8 |014....... 47.6 | 042 ..... 132.3 L
503 98 o0s 172 Tor7 . =82 loas 1424 6. T7B-BL10-1ROOYIMI ..o, Wb
BO4......12.8 | 006........ 21.3 [020....... 66.0 |050.....158.5 7. T7B-BlO-1ROO-AM1 ........................... if,‘ﬁfi B
BO5....... 15.9 (008....... 26.4 (024 ....... 79.5 [052..... 164.8 I AP 1
B06......19.8 [ 010.......34.1 | 028.......89.7 | 057 .....179.8 P — =
BO7....225|012.....37.1 |031.....98.3 |062...196.7 BT ARG P >
BOS.......24.9 | 014.......46.0 [035....111.0 | 066 .....213.3 8. T7B-B10-1RO0-ALNH ......ccocvvvvrnne. PG
B1O....... 31.8 |017....... 58.3 |038..... 120.3 |072.....227.1 pP=3 pP=1
Bi12....... 41.0 | 020....... 63.8 | 042.....136.0 | 085.....269.0 T7BS : UNC iz o1 00
B15...... 50.0 |022....... 70.3 |045..... 145.7 T7B:?fﬁﬂ[ﬂ%@\" M1 MO
025....... 79.3 |050..... 158.0
028....... 88.8
031.....100.0
= P £ £
i |G I I Ol ® [F
S




RA - PR

L] A A B
E 38.1
| D—»] . F 82.3
G| 1685
J1|100.000
) J2| 99.967
) o O N| 1400
o~ O| 1745
e A ~—
| E[ m m| |@P 14.0
=
Q T7BS T6C
( Ly E 38.1 38.1
| C1 C1|F 82.3 82.3
T1 T1 G| 1685| 1616
J1| 101.60| 101.60
O 32| 101.55| 10155
N L1 E F N 146.0| 146.0
>l > O| 1745| 1745
L2 T 7 P 14.3 14.3
KIXK2 | - - T6D T6E
% SO )
i ; ) E 38.1 52.3
@ @ < v F 87.4| 110.0
o L G| 1849| 2253
— J1| 127.00| 127.00
T 1 [ 5 32| 126.95| 126.95
N 181.0| 181.0
O| 2124| 2130
M1 G
P 17.5 175
ﬁl fﬁl B (N.m) FEH] (mm)
T7B |T7BS| T6C | T6D | T6E L1 L2 HPR K1x K2 H1 M1
4k SAE B (222) (] 275 71.4 38.1 | 22.225-22.200 | 6.35x6.30 24.95 M8 x 16
1 | 4t : SAE C (@31) () 83.6 49.3 | 31.750-31.700 | 7.94x7.89 | 35.27 | M10x20
i - SAE CC (238) (] 90.9 50.8 | 38.100-38.050 | 9.52x9.47 | 42.36 M10 x 20
T4 - No SAE (@22) 238 58.2 31.7 |22.225-22200 | 4.76x4.71 | 24.53 -
> Vit ISOR775(225) | @ 70.0 40.0 |24.9935-25.0065| 8.00x7.00 | 28.22 -
“F4 - No SAE (231) 577 73.2 38.1 |31.750-31.700 | 7.94x7.89 | 35.27 -
SE4E - No SAE (2931) 577 | 61.9 38.1 | 31.750-31.700 | 7.94x7.89 | 35.27 -
. 1tk - SAEB ® | 343 40.7 24.5 Class 1-J498b, 16/32 d.p. - 13 F -
1EHt - SAE C () () 55.2 38.0 Class 1-J498b, 12/24 d.p. - 14 F -
1EHt - SAE BB () () 45.5 24.5 Class 1-J498b, 16/32 d.p. - 15 -
4 | 1£4t - No SAE ® 77.7 48.0 Class 1-J498b, 12/24 d.p. - 14 -
164t - SAE CC ® 62.2 315 Class 1-J498b, 12/24 d.p. - 17 F -
L EERS] (mm
Al B1 @c1 D1 T1 [ ESL
01: %" 22.2 47.7 19.0 3.
T7BS P 00: 1" 26.2 52.4 25.4 76.2 ls"-16UNC x 19.0
] 1% 35.8 70.0 38.1 76.2 1%"-13UNC x 22.4
M1 : %" 22.2 47.7 19.0
T78 P MO: 17 26.2 52.4 25.4 76.2 M10 x 19.0
] 1% 35.8 70.0 38.1 76.2 M12 x 22.4
s = 1" 26.2 52.4 25.4 76.2 %/g"-16UNC x 19.0
S 1w 35.8 70.0 38.1 76.2 14"-13UNC x 22.4
- P 1y 30.2 58.7 31.8 82.6 "16"-14UNC x 22.3
] 2" 429 77.8 50.8 82.6 1%"-13UNC x 23.9
- P 1%" 35.7 69.8 37.1 98.6 1%"-13UNC x 23.4
S 3 61.9 106.4 75.0 98.6 ®/"-11UNC x 24.0




